
S:FLEX GmbH  •  Reinbeker Weg 9  21029  Hamburg Tel. +49 (0)40 688 93 17 0  •  Elsässer Str. 12  79189 Bad Krozingen  Tel. +49 (0)761 888 56 08 0

info@sflex.com     www.sflex.com      © S:FLEX GmbH 22/2022/ Subject to technical modifications

Photovoltaic Mounting Systems

Supplement assembly instructions 
LEICHTmount RAIL 2.0 E/W

New components LEICHTmount RAIL 2.0 E/W - Stable base for large modules

The trend towards ever larger module dimensions knows only one direction: upwards. In order to serve this market 
development and to respond to our customers‘ wishes, the S:FLEX flat roof system LEICHTmount RAIL 2.0 E/W has 
been further developed and made more flexible. It now allows the use of larger modules in three different variants. 
The new wind assessment has also confirmed that this optimisation means that significantly less ballast is used. 

What changes are there to the LEICHTmount RAIL 2.0 E/W?

The basic concept of the mounting system, the main components (base or tower), the ballasting principle and the mounting 
procedure are largely retained.
For the assembly of larger modules, the LEICHTmount RAIL 2.0 E/W 10° now has four additional ground rails in the lengths 
2150 mm / 2250 mm / 2350 mm / 2450 mm with the corresponding side panels and middle supports. The roll-bar and side 
panels are attached to the adapter for roll-bar, which was specially developed for this purpose.  

The LEICHTmount RAIL 2.0 E/W mounting system is suitable for mounting framed modules with the following dimensions:

Module length: 1614 mm - 2400 mm	 Module width: 985 mm - 1300 mm	 Frame height: 30 mm - 50 mm

1

This document serves exclusively as a supplement to the current installation instructions LEICHTmount RAIL 
2.0 E/W. All points from the LEICHTmount RAIL 2.0 E/W installation instructions not covered in this document 
are still valid.	

Modifications: 	 - Use of larger module dimensions
		  - Additional ground rails in four further lengths 2150 mm / 2250 mm / 2350 mm / 2450 mm and the 	
		    corresponding side panels and middle supports
		  - adapter for roll-bar: 	 - for attaching the roll-bar
					     - with screw-on point for side panels



S:FLEX GmbH  •  Reinbeker Weg 9  21029  Hamburg Tel. +49 (0)40 688 93 17 0  •  Elsässer Str. 12  79189 Bad Krozingen  Tel. +49 (0)761 888 56 08 0

info@sflex.com     www.sflex.com      © S:FLEX GmbH 11/2022/ Subject to technical modifications

Photovoltaic Mounting Systems

Supplement assembly instructions 
LEICHTmount RAIL 2.0 E/W

Depending on the desired use of space and accessibility as well as the load-bearing capacity reserve, there 
is a choice between three variants: 

comfort	 			   super comfort				   eco / performance-optimised
+ large gap at the high point		  + large gap at the high point		  + Accessibility selectable at the low point
+ easy to maintain			   + large gap at the low point		  + space-saving
+ space-saving				    + easy to maintain			   + maximum space utilisation
+ always accessible			   + pleasant to assemble:			  - increased ballast requirement
+ less ballast necessary			     Modules accessible from		  - no accessibility at the high point
					        above and below
					     + less ballast necessary
					     - greater space requirement

2

2. super comfort

3. eco / performance-optimised

B

B

B

1. comfort

F

F

F



S:FLEX GmbH  •  Reinbeker Weg 9  21029  Hamburg Tel. +49 (0)40 688 93 17 0  •  Elsässer Str. 12  79189 Bad Krozingen  Tel. +49 (0)761 888 56 08 0

info@sflex.com     www.sflex.com      © S:FLEX GmbH 22/2022/ Subject to technical modifications

Photovoltaic Mounting Systems

Supplement assembly instructions 
LEICHTmount RAIL 2.0 E/W

2 3

The right ground rail and base for every module width and variant

LmR EW 10° LmR EW 15°
module width [mm] type 2013 type 2150 type 2250 type 2350 type 2450 type 2013
Comfort 985 - 1035 1036 - 1105 1106 - 1155 1156 - 1205 1206 - 1255 /
Super Comfort 985 - 1035 1036 - 1105 1106 - 1155 1156 - 1205 1206 - 1255 985 - 1035
ECO 1036 - 1080 1106 - 1150 1156 - 1200 1206 - 1250 1256 - 1300 985 - 1080

ground rail type 2013 module width [mm] meas. B [mm] meas. C [mm] meas. F [mm]
Comfort/Super Comfort Base 985 - 1015 57/197/297 2205/2345/2445 2148
Comfort/Super Comfort Base M6 1016 - 1035 18/158/258 2205/2345/2445 2187
ECO Base M6 1036 - 1080 18/158/258 2205/2345/2445 2187

ground rail type 2150 module width [mm] meas. B [mm] meas. C [mm] meas. F [mm]
Comfort/Super Comfort Base M6 1106 - 1150 18/158/258 2342/2482/2582 2324
ECO Base M6 1036 - 1105 18/158/258 2342/2482/2582 2324

ground rail type 2250 module width [mm] meas. B [mm] meas. C [mm] meas. F [mm]
Comfort/Super Comfort Base M6 1106 - 1155 18/158/258 2442/2582/2682 2424
ECO Base M6 1156 - 1200 18/158/258 2442/2582/2682 2424

ground rail type 2350 module width [mm] meas. B [mm] meas. C [mm] meas. F [mm]
Comfort/Super Comfort Base M6 1156 - 1205 18/158/258 2542/2682/2782 2524
ECO Base M6 1206 - 1250 18/158/258 2542/2682/2782 2524

ground rail type 2450 module width [mm] meas. B [mm] meas. C [mm] meas. F [mm]
Comfort/Super Comfort Base M6 1206 - 1255 18/158/258 2642/2782/2882 2624
ECO Base M6 1256 - 1300 18/158/258 2642/2782/2882 2624

1106 - 1150
1036 - 1105



S:FLEX GmbH  •  Reinbeker Weg 9  21029  Hamburg Tel. +49 (0)40 688 93 17 0  •  Elsässer Str. 12  79189 Bad Krozingen  Tel. +49 (0)761 888 56 08 0

info@sflex.com     www.sflex.com      © S:FLEX GmbH 11/2022/ Subject to technical modifications

Photovoltaic Mounting Systems

Supplement assembly instructions 
LEICHTmount RAIL 2.0 E/W

4

BAUTEILLISTE
TITELArtikel-Nr.Pos.

USO Baugruppe EW10 Typ 100 1
Dünnblechschraube 4,8x19 E1452215-19331.1
Sechskantmutter M12 DIN 692352215-09691.2
Beilagscheibe M1252215-10171.3
EVO 2.0 USO EW10 Typ 10052215-16571.4
Montagefuß52215-12721.5
M12 Fächerscheibe A252215-14081.6
Sechskantmutter M12 ISO 403552215-16591.7
EVO 2.0 QBS Typ 168252215-13882
S Typ M8x3052215-14603
EVO 2.0 AEBP Typ 7552215-13744
EVO 2.0 B10 Typ 7552215-1384-015
EVO 2.0 HBP Typ 201352215-17676
S Typ M8x1652215-15997
EVO 2.0 SDR EW1052215-13928
EVO 2.0 T10 Typ 7552215-13859
EVO 2.0 SDL EW1052215-160810
EVO 2.0 MAG EW1052215-186811

2
3

4 5 6 7
8

9

7

1.2 1.1

1.3

1.4

1.5

1.6
1.7

11

10

TEILELISTE
BESCHREIBUNGARTIKELNUMMEROBJEKT

LmR 2.0 roll-bar type 1682740-151-3882
LmR 2.0 screw ISO 7380 A2 hs5 M8x30740-151-4603
LmR 2.0 ground rail type 75740-151-3744
LmR 2.0 Base 10° l=75 or740-151-3845
LmR 2.0 Base M6 10° l=75740-151-8165
LmR 2.0 ground rail type 2013740-151-7676
LmR 2.0 screw ISO 7380 A2 hs5 M8x16740-151-5997
LmR 2.0 side panel right EW10° II740-151-392 II8
LmR 2.0 Tower 10° l=75740-151-3859
LmR 2.0 side panel left EW10° II740-151-608 II10
LmR 2.0 ridge connector Tower EW 10740-151-87211

Reinbeker Weg 9, 21029 Hamburg

ÄnderungStatus

Genehmigt vonErstellt durch

1 

OberflächeAllgemeintoleranz Werkstoff Gewicht

Maßstab Ausgabedatum

Artikelbezeichnung

Artikelnummer

DIN EN 755-9 pressblank  

 

 

 

  

   
Fläche

Perimeter

Ix

Iy

Wx

Wy

  

cm4 cm3

 cm  cm4  cm3

cm²

Alle nicht bemaßten Radien =0,3mm

©
 C

op
yr

ig
ht

   
S:

FL
EX

 G
m

bH
 2

02
1

Technical data sheet LmR 2.0 ground rail type 2013 EW 10°

BAUTEILLISTE
TITELArtikel-Nr.Pos.

USO Baugruppe EW10 Typ 100 1
Dünnblechschraube 4,8x19 E1452215-19331.1
Sechskantmutter M12 DIN 692352215-09691.2
Beilagscheibe M1252215-10171.3
EVO 2.0 USO EW10 Typ 10052215-16571.4
Montagefuß52215-12721.5
M12 Fächerscheibe A252215-14081.6
Sechskantmutter M12 ISO 403552215-16591.7
EVO 2.0 QBS Typ 168252215-13882
S Typ M8x3052215-14603
EVO 2.0 AEBP Typ 7552215-13744
EVO 2.0 B10 Typ 7552215-1384-015
EVO 2.0 HBP Typ 201352215-17676
S Typ M8x1652215-15997
EVO 2.0 SDR EW1052215-13928
EVO 2.0 T10 Typ 7552215-13859
EVO 2.0 SDL EW1052215-160810
EVO 2.0 MAG EW1052215-186811

2
3

4 5 6 7
8

9

7

1.2 1.1

1.3

1.4

1.5

1.6
1.7

11

10

DESCRIPTION
List of parts

ARTICLE NUMBEROBJECT



S:FLEX GmbH  •  Reinbeker Weg 9  21029  Hamburg Tel. +49 (0)40 688 93 17 0  •  Elsässer Str. 12  79189 Bad Krozingen  Tel. +49 (0)761 888 56 08 0

info@sflex.com     www.sflex.com      © S:FLEX GmbH 22/2022/ Subject to technical modifications

Photovoltaic Mounting Systems

Supplement assembly instructions 
LEICHTmount RAIL 2.0 E/W

BAUTEILLISTE
TITELArtikel-Nr.Pos.

USO Baugruppe EW15 Typ 100 1
Dünnblechschraube 4,8x19 E1452215-19331.1
Sechskantmutter M12 DIN 692352215-09691.2
Beilagscheibe M1252215-10171.3
EVO 2.0 USO EW15 Typ 10052215-23711.4
Montagefuß52215-12721.5
M12 Fächerscheibe A252215-14081.6
Sechskantmutter M12 ISO 403552215-16591.7
EVO 2.0 QBS Typ 168252215-13882
S Typ M8x3052215-14603
EVO 2.0 AEBP Typ 7552215-13744
EVO 2.0 B15 Typ 7552215-1384-015
EVO 2.0 HBP Typ 201352215-17676
S Typ M8x1652215-15997
EVO 2.0 SDL EW1552215-18228
EVO 2.0 T15 Typ 7552215-16769
EVO 2.0 SDR EW1552215-182110
EVO 2.0 MAG EW1552215-186911

2
3

4 5 6 7
8

9

1.2
1.1

1.3

1.4

1.5

1.6
1.7 11

10

7

TEILELISTE
BESCHREIBUNGARTIKELNUMMEROBJEKT

LmR 2.0 roll-bar type 1682740-151-3882
LmR 2.0 screw ISO 7380 A2 hs5 M8x30740-151-4603
LmR 2.0 ground rail type 75740-151-3744
LmR 2.0 Base 15° l=75 or740-151-7225
LmR 2.0 Base M6 15° l=75740-152-1945
LmR 2.0 ground rail type 2013740-151-7676
LmR 2.0 screw ISO 7380 A2 hs5 M8x16740-151-5997
LmR 2.0 side panel left EW15°740-151-8228
LmR 2.0 Tower 15° l=75740-151-6769
LmR 2.0 side panel right EW15° 740-151-82110
LmR 2.0 ridge connector Tower EW 15740-151-87311

Reinbeker Weg 9, 21029 Hamburg

ÄnderungStatus

Genehmigt vonErstellt durch

1 

OberflächeAllgemeintoleranz Werkstoff Gewicht

Maßstab Ausgabedatum

Artikelbezeichnung

Artikelnummer

DIN EN 755-9 pressblank  

 

 

 

  

   
Fläche

Perimeter

Ix

Iy

Wx

Wy

  

cm4 cm3

 cm  cm4  cm3

cm²

Alle nicht bemaßten Radien =0,3mm

©
 C

op
yr

ig
ht

   
S:

FL
EX

 G
m

bH
 2

02
1

BAUTEILLISTE
TITELArtikel-Nr.Pos.

USO Baugruppe EW15 Typ 100 1
Dünnblechschraube 4,8x19 E1452215-19331.1
Sechskantmutter M12 DIN 692352215-09691.2
Beilagscheibe M1252215-10171.3
EVO 2.0 USO EW15 Typ 10052215-23711.4
Montagefuß52215-12721.5
M12 Fächerscheibe A252215-14081.6
Sechskantmutter M12 ISO 403552215-16591.7
EVO 2.0 QBS Typ 168252215-13882
S Typ M8x3052215-14603
EVO 2.0 AEBP Typ 7552215-13744
EVO 2.0 B15 Typ 7552215-1384-015
EVO 2.0 HBP Typ 201352215-17676
S Typ M8x1652215-15997
EVO 2.0 SDL EW1552215-18228
EVO 2.0 T15 Typ 7552215-16769
EVO 2.0 SDR EW1552215-182110
EVO 2.0 MAG EW1552215-186911

2
3

4 5 6 7
8

9

1.2
1.1

1.3

1.4

1.5

1.6
1.7 11

10

7

5

Technical data sheet LmR 2.0 ground rail type 2013 EW 15°

DESCRIPTION
List of parts

ARTICLE NUMBEROBJECT

4



S:FLEX GmbH  •  Reinbeker Weg 9  21029  Hamburg Tel. +49 (0)40 688 93 17 0  •  Elsässer Str. 12  79189 Bad Krozingen  Tel. +49 (0)761 888 56 08 0

info@sflex.com     www.sflex.com      © S:FLEX GmbH 11/2022/ Subject to technical modifications

Photovoltaic Mounting Systems

Supplement assembly instructions 
LEICHTmount RAIL 2.0 E/W

Adapter for roll-bar for attaching the roll-bar and additional screw-on point for side panels (for ground 
rails 2150 mm / 2250 mm / 2350 mm / 2450 mm).

6

O P T I O N A L E R  AU F B AU S C H R I T T 
M O N TAG E A DA P T E R  F Ü R  Q U E R -  U N D  B A L L A S T S T R E B E  
A N S C H R A U B P U N KT  F Ü R  S E I T E N D E C K E L

EVO 2.0 EW

RICHTIG! FALSCH!

CLICK!

O P T I O N A L E R  AU F B AU S C H R I T T 
M O N TAG E A DA P T E R  F Ü R  Q U E R -  U N D  B A L L A S T S T R E B E  
A N S C H R A U B P U N KT  F Ü R  S E I T E N D E C K E L

EVO 2.0 EW

RICHTIG! FALSCH!

CLICK!

O P T I O N A L E R  AU F B AU S C H R I T T 
M O N TAG E A DA P T E R  F Ü R  Q U E R -  U N D  B A L L A S T S T R E B E  
A N S C H R A U B P U N KT  F Ü R  S E I T E N D E C K E L

EVO 2.0 EW

RICHTIG! FALSCH!

CLICK!

CORRECT INCORRECT



S:FLEX GmbH  •  Reinbeker Weg 9  21029  Hamburg Tel. +49 (0)40 688 93 17 0  •  Elsässer Str. 12  79189 Bad Krozingen  Tel. +49 (0)761 888 56 08 0

info@sflex.com     www.sflex.com      © S:FLEX GmbH 22/2022/ Subject to technical modifications

Photovoltaic Mounting Systems

Supplement assembly instructions 
LEICHTmount RAIL 2.0 E/W

7

BAUTEILLISTE
TITELArtikel-Nr.Pos.

USO Baugruppe EW10 Typ 100 1
Dünnblechschraube 4,8x19 E1452215-19331.1
Sechskantmutter M12 DIN 692352215-09691.2
Beilagscheibe M1252215-10171.3
EVO 2.0 USO EW10 Typ 10052215-16571.4
Montagefuß52215-12721.5
M12 Fächerscheibe A252215-14081.6
Sechskantmutter M12 ISO 403552215-16591.7
EVO 2.0 QBS Typ 168252215-13882
S Typ M8x3052215-14603
EVO 2.0 AEBP Typ 7552215-13744
EVO 2.0 B10 M6 Typ 7552215-18165
EVO 2.0 HBP  EW Typ 215052215-21196
S Typ M8x1652215-15997
EVO 2.0 SDR EW1052215-27418
EVO 2.0 T10 Typ 7552215-13859
EVO 2.0 MAQBS Typ 7552215-196210
EVO 2.0 SDL EW1052215-274211
EVO 2.0 MAG EW1052215-276712

7

8

11

4 5 6

9
10

2
3

12
7

1.2

1.3

1.4

1.6
1.7

1.1

1.5

TEILELISTE
BESCHREIBUNGARTIKELNUMMEROBJEKT

LmR 2.0 roll-bar type 1682740-151-3882
LmR 2.0 screw ISO 7380 A2 hs5 M8x30740-151-4603
LmR 2.0 ground rail type 75740-151-3744
LmR 2.0 Base M6 10° l=75740-151-8165
LmR 2.0 ground rail type 2150740-152-1196
LmR 2.0 screw ISO 7380 A2 hs5 M8x16740-151-5997
LmR 2.0 side panel right EW10° 2150740-152-7418
LmR 2.0 Tower 10° l=75740-151-3859
LmR 2.0 adapter for roll-bar type 75 740-151-96210
LmR 2.0 side panel left EW10° 2150740-152-74211
LmR 2.0 Middle support EW 2150740-152-76712

Reinbeker Weg 9, 21029 Hamburg

ÄnderungStatus

Genehmigt vonErstellt durch

1 

OberflächeAllgemeintoleranz Werkstoff Gewicht

Maßstab Ausgabedatum

Artikelbezeichnung

Artikelnummer

DIN EN 755-9 pressblank  

 

 

 

  

   
Fläche

Perimeter

Ix

Iy

Wx

Wy

  

cm4 cm3

 cm  cm4  cm3

cm²

Alle nicht bemaßten Radien =0,3mm

©
 C

op
yr

ig
ht

   
S:

FL
EX

 G
m

bH
 2

02
1

Technical data sheet LmR 2.0 ground rail type 2150 EW 10°

BAUTEILLISTE
TITELArtikel-Nr.Pos.

USO Baugruppe EW10 Typ 100 1
Dünnblechschraube 4,8x19 E1452215-19331.1
Sechskantmutter M12 DIN 692352215-09691.2
Beilagscheibe M1252215-10171.3
EVO 2.0 USO EW10 Typ 10052215-16571.4
Montagefuß52215-12721.5
M12 Fächerscheibe A252215-14081.6
Sechskantmutter M12 ISO 403552215-16591.7
EVO 2.0 QBS Typ 168252215-13882
S Typ M8x3052215-14603
EVO 2.0 AEBP Typ 7552215-13744
EVO 2.0 B10 M6 Typ 7552215-18165
EVO 2.0 HBP  EW Typ 215052215-21196
S Typ M8x1652215-15997
EVO 2.0 SDR EW1052215-27418
EVO 2.0 T10 Typ 7552215-13859
EVO 2.0 MAQBS Typ 7552215-196210
EVO 2.0 SDL EW1052215-274211
EVO 2.0 MAG EW1052215-276712

7

8

11

4 5 6

9
10

2
3

12
7

1.2

1.3

1.4

1.6
1.7

1.1

1.5

DESCRIPTION
List of parts

ARTICLE NUMBEROBJECT

6



S:FLEX GmbH  •  Reinbeker Weg 9  21029  Hamburg Tel. +49 (0)40 688 93 17 0  •  Elsässer Str. 12  79189 Bad Krozingen  Tel. +49 (0)761 888 56 08 0

info@sflex.com     www.sflex.com      © S:FLEX GmbH 11/2022/ Subject to technical modifications

Photovoltaic Mounting Systems

Supplement assembly instructions 
LEICHTmount RAIL 2.0 E/W

8

BAUTEILLISTE
TITELArtikel-Nr.Pos.

USO Baugruppe EW10 Typ 100 1
Dünnblechschraube 4,8x19 E1452215-19331.1
Sechskantmutter M12 DIN 692352215-09691.2
Beilagscheibe M1252215-10171.3
EVO 2.0 USO EW10 Typ 10052215-16571.4
Montagefuß52215-12721.5
M12 Fächerscheibe A252215-14081.6
Sechskantmutter M12 ISO 403552215-16591.7
EVO 2.0 QBS Typ 168252215-13882
S Typ M8x3052215-14603
EVO 2.0 AEBP Typ 7552215-13744
EVO 2.0 B10 M6 Typ 7552215-18165
EVO 2.0 HBP EW Typ 225052215-25766
S Typ M8x1652215-15997
EVO 2.0 SDR EW1052215-27418
EVO 2.0 T10 Typ 7552215-13859
EVO 2.0 MAQBS Typ 7552215-196210
EVO 2.0 SDL EW1052215-274211
EVO 2.0 MAG EW1052215-276812

2
3

4 5 6 7
8

9
10

11

12
7

1.2 1.1

1.3

1.4

1.5

1.6
1.7

TEILELISTE
BESCHREIBUNGARTIKELNUMMEROBJEKT

LmR 2.0 roll-bar type 1682740-151-3882
LmR 2.0 screw ISO 7380 A2 hs5 M8x30740-151-4603
LmR 2.0 ground rail type 75740-151-3744
LmR 2.0 Base M6 10° l=75740-151-8165
LmR 2.0 ground rail type 2250740-152-5766
LmR 2.0 screw ISO 7380 A2 hs5 M8x16740-151-5997
LmR 2.0 side panel right EW10° 2150740-152-7418
LmR 2.0 Tower 10° l=75740-151-3859
LmR 2.0 adapter for roll-bar type 75740-151-96210
LmR 2.0 side panel left EW10° 2150740-152-74211
LmR 2.0 Middle support EW 2250740-152-76812

Reinbeker Weg 9, 21029 Hamburg

ÄnderungStatus

Genehmigt vonErstellt durch

1 

OberflächeAllgemeintoleranz Werkstoff Gewicht

Maßstab Ausgabedatum

Artikelbezeichnung

Artikelnummer

DIN EN 755-9 pressblank  

 

 

 

  

   
Fläche

Perimeter

Ix

Iy

Wx

Wy

  

cm4 cm3

 cm  cm4  cm3

cm²

Alle nicht bemaßten Radien =0,3mm

©
 C

op
yr

ig
ht

   
S:

FL
EX

 G
m

bH
 2

02
1

Technical data sheet LmR 2.0 ground rail type 2250 EW 10°

BAUTEILLISTE
TITELArtikel-Nr.Pos.

USO Baugruppe EW10 Typ 100 1
Dünnblechschraube 4,8x19 E1452215-19331.1
Sechskantmutter M12 DIN 692352215-09691.2
Beilagscheibe M1252215-10171.3
EVO 2.0 USO EW10 Typ 10052215-16571.4
Montagefuß52215-12721.5
M12 Fächerscheibe A252215-14081.6
Sechskantmutter M12 ISO 403552215-16591.7
EVO 2.0 QBS Typ 168252215-13882
S Typ M8x3052215-14603
EVO 2.0 AEBP Typ 7552215-13744
EVO 2.0 B10 M6 Typ 7552215-18165
EVO 2.0 HBP EW Typ 225052215-25766
S Typ M8x1652215-15997
EVO 2.0 SDR EW1052215-27418
EVO 2.0 T10 Typ 7552215-13859
EVO 2.0 MAQBS Typ 7552215-196210
EVO 2.0 SDL EW1052215-274211
EVO 2.0 MAG EW1052215-276812

2
3

4 5 6 7
8

9
10

11

12
7

1.2 1.1

1.3

1.4

1.5

1.6
1.7

DESCRIPTION
List of parts

ARTICLE NUMBEROBJECT



S:FLEX GmbH  •  Reinbeker Weg 9  21029  Hamburg Tel. +49 (0)40 688 93 17 0  •  Elsässer Str. 12  79189 Bad Krozingen  Tel. +49 (0)761 888 56 08 0

info@sflex.com     www.sflex.com      © S:FLEX GmbH 22/2022/ Subject to technical modifications

Photovoltaic Mounting Systems

Supplement assembly instructions 
LEICHTmount RAIL 2.0 E/W

9

BAUTEILLISTE
TITELArtikel-Nr.Pos.

USO Baugruppe S10 Typ 100 1
Dünnblechschraube 4,8x19 E1452215-19331.1
Sechskantmutter M12 DIN 692352215-09691.2
Beilagscheibe M1252215-10171.3
EVO 2.0 USO S10 Typ 10052215-16981.4
Montagefuß52215-12721.5
M12 Fächerscheibe A252215-14081.6
Sechskantmutter M12 ISO 403552215-16591.7
EVO 2.0 QBS Typ 168252215-13882
S Typ M8x3052215-14603
EVO 2.0 AEBP Typ 7552215-13744
EVO 2.0 B10 M6 Typ 7552215-18165
EVO 2.0 HBP EW Typ 235052215-27456
S Typ M8x1652215-15997
EVO 2.0 SDR EW1052215-27438
EVO 2.0 T10 Typ 7552215-13859
EVO 2.0 MAQBS Typ 7552215-196210
EVO 2.0 SDL EW1052215-274411
EVO 2.0 MAG EW1052215-275712

2
3

4 5 6 7
8

9
10

11

12
7

1.2
1.3

1.5

1.6
1.7

1.4

1.1

TEILELISTE
BESCHREIBUNGARTIKELNUMMEROBJEKT

LmR 2.0 roll-bar type 1682740-151-3882
LmR 2.0 screw ISO 7380 A2 hs5 M8x30740-151-4603
LmR 2.0 ground rail type 75740-151-3744
LmR 2.0 Base M6 10° l=75740-151-8165
LmR 2.0 ground rail type 2350740-152-7456
LmR 2.0 screw ISO 7380 A2 hs5 M8x16740-151-5997
LmR 2.0 side panel right EW10° 2350740-152-7438
LmR 2.0 Tower 10° l=75740-151-3859
LmR 2.0 adapter for roll-bar type 75740-151-96210
LmR 2.0 side panel left EW10° 2350740-152-74411
LmR 2.0 Middle support EW 2350740-152-75712

Reinbeker Weg 9, 21029 Hamburg

ÄnderungStatus

Genehmigt vonErstellt durch

1 

OberflächeAllgemeintoleranz Werkstoff Gewicht

Maßstab Ausgabedatum

Artikelbezeichnung

Artikelnummer

DIN EN 755-9 pressblank  

 

 

 

  

   
Fläche

Perimeter

Ix

Iy

Wx

Wy

  

cm4 cm3

 cm  cm4  cm3

cm²

Alle nicht bemaßten Radien =0,3mm

©
 C

op
yr

ig
ht

   
S:

FL
EX

 G
m

bH
 2

02
1

Technical data sheet LmR 2.0 ground rail type 2350 EW 10°

BAUTEILLISTE
TITELArtikel-Nr.Pos.

USO Baugruppe S10 Typ 100 1
Dünnblechschraube 4,8x19 E1452215-19331.1
Sechskantmutter M12 DIN 692352215-09691.2
Beilagscheibe M1252215-10171.3
EVO 2.0 USO S10 Typ 10052215-16981.4
Montagefuß52215-12721.5
M12 Fächerscheibe A252215-14081.6
Sechskantmutter M12 ISO 403552215-16591.7
EVO 2.0 QBS Typ 168252215-13882
S Typ M8x3052215-14603
EVO 2.0 AEBP Typ 7552215-13744
EVO 2.0 B10 M6 Typ 7552215-18165
EVO 2.0 HBP EW Typ 235052215-27456
S Typ M8x1652215-15997
EVO 2.0 SDR EW1052215-27438
EVO 2.0 T10 Typ 7552215-13859
EVO 2.0 MAQBS Typ 7552215-196210
EVO 2.0 SDL EW1052215-274411
EVO 2.0 MAG EW1052215-275712

2
3

4 5 6 7
8

9
10

11

12
7

1.2
1.3

1.5

1.6
1.7

1.4

1.1

DESCRIPTION
List of parts

ARTICLE NUMBEROBJECT

8



S:FLEX GmbH  •  Reinbeker Weg 9  21029  Hamburg Tel. +49 (0)40 688 93 17 0  •  Elsässer Str. 12  79189 Bad Krozingen  Tel. +49 (0)761 888 56 08 0

info@sflex.com     www.sflex.com      © S:FLEX GmbH 11/2022/ Subject to technical modifications

Photovoltaic Mounting Systems

Supplement assembly instructions 
LEICHTmount RAIL 2.0 E/W

10

BAUTEILLISTE
TITELArtikel-Nr.Pos.

USO Baugruppe EW10 Typ 100 1
Dünnblechschraube 4,8x19 E1452215-19331.1
Sechskantmutter M12 DIN 692352215-09691.2
Beilagscheibe M1252215-10171.3
EVO 2.0 USO EW10 Typ 10052215-16571.4
Montagefuß52215-12721.5
M12 Fächerscheibe A252215-14081.6
Sechskantmutter M12 ISO 403552215-16591.7
EVO 2.0 QBS Typ 168252215-13882
S Typ M8x3052215-14603
EVO 2.0 AEBP Typ 7552215-13744
EVO 2.0 B10 M6 Typ 7552215-18165
EVO 2.0 HBP EW Typ 245052215-27486
S Typ M8x1652215-15997
EVO 2.0 SDR EW1052215-27438
EVO 2.0 T10 Typ 7552215-13859
EVO 2.0 MAQBS Typ 7552215-196210
EVO 2.0 SDL EW1052215-274411
EVO 2.0 MAG EW1052215-300212

2
3

4 5 6 7
8

9
10

11

12
7

1.2 1.1

1.3

1.4

1.5

1.6
1.7

TEILELISTE
BESCHREIBUNGARTIKELNUMMEROBJEKT

LmR 2.0 roll-bar type 1682740-151-3882
LmR 2.0 screw ISO 7380 A2 hs5 M8x30740-151-4603
LmR 2.0 ground rail type 75740-151-3744
LmR 2.0 Base M6 10° l=75740-151-8165
LmR 2.0 ground rail type 2450740-152-7486
LmR 2.0 screw ISO 7380 A2 hs5 M8x16740-151-5997
LmR 2.0 side panel right EW10° 2350740-152-7438
LmR 2.0 Tower 10° l=75740-151-3859
LmR 2.0 adapter for roll-bar type 75740-151-96210
LmR 2.0 side panel left EW10° 2350740-152-74411
LmR 2.0 Middle support EW 2450740-153-00212

Reinbeker Weg 9, 21029 Hamburg

ÄnderungStatus

Genehmigt vonErstellt durch

1 

OberflächeAllgemeintoleranz Werkstoff Gewicht

Maßstab Ausgabedatum

Artikelbezeichnung

Artikelnummer

DIN EN 755-9 pressblank  

 

 

 

  

   
Fläche

Perimeter

Ix

Iy

Wx

Wy

  

cm4 cm3

 cm  cm4  cm3

cm²

Alle nicht bemaßten Radien =0,3mm

©
 C

op
yr

ig
ht

   
S:

FL
EX

 G
m

bH
 2

02
1

Technical data sheet LmR 2.0 ground rail type 2450 EW 10°

BAUTEILLISTE
TITELArtikel-Nr.Pos.

USO Baugruppe EW10 Typ 100 1
Dünnblechschraube 4,8x19 E1452215-19331.1
Sechskantmutter M12 DIN 692352215-09691.2
Beilagscheibe M1252215-10171.3
EVO 2.0 USO EW10 Typ 10052215-16571.4
Montagefuß52215-12721.5
M12 Fächerscheibe A252215-14081.6
Sechskantmutter M12 ISO 403552215-16591.7
EVO 2.0 QBS Typ 168252215-13882
S Typ M8x3052215-14603
EVO 2.0 AEBP Typ 7552215-13744
EVO 2.0 B10 M6 Typ 7552215-18165
EVO 2.0 HBP EW Typ 245052215-27486
S Typ M8x1652215-15997
EVO 2.0 SDR EW1052215-27438
EVO 2.0 T10 Typ 7552215-13859
EVO 2.0 MAQBS Typ 7552215-196210
EVO 2.0 SDL EW1052215-274411
EVO 2.0 MAG EW1052215-300212

2
3

4 5 6 7
8

9
10

11

12
7

1.2 1.1

1.3

1.4

1.5

1.6
1.7

DESCRIPTION
List of parts

ARTICLE NUMBEROBJECT


